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Vertical Division with aHelper Grid

Name:

Solve each problem.

1)

3212528

4)

10|13790

7)

1618472

2)

9211196

5)

896814

8)

361360

3)

6)

9)

98(3878

25|19047

963552

Answers
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 79 2) 13 3) 39156 79
32[2528 92[1196 98[3878 "
0 0 0 2. 13
25 11 38
0 0 0 3. 39r56
252 119 387 . 379
224 92 294
288 276 938 < 76150
288 276 882
0 0 56 6. 361r22
4) 379 5) 76150 6) 361r22 L
10[3790 89(6814 25(9047 s 37r28
0 0 0
37 68 90 J 37
30 0 75
79 681 154
70 623 150
90 584 47
90 534 25
0 50 22
7) 529r8 8) 37128 9) 37
168472 36/1360 96(3552
0 0 0
84 13 35
80 0 0
47 136 355
32 108 288
152 280 672
144 252 672
8 28 0
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# Vertical Division with a Helper Grid Name:

Solve each problem. Answers
37 379 529 r8 37 r28 13 79
361 r22 76 r50 39 r56 1.
1) 2) 3)

3212528 9211196 983878

4) 5) 6) 8.

10|13790 8916814 259047 o

7) 8) 9)

1618472 36|1360 963552
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